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Tollowing equation: X = att +(B/A)
The dimensions of B.L
‘ ~L2 T—G D) LZ TS

, where x is the distance, tisthe

B Pr

IE‘L Caonsider the

$ime and v is the speed .
D _i) 2 ;BDB) 1278
N2 .Thex cgznﬁ;ﬂent of vector A is-3. ¢ and the ¥ component is —4 0 rit. The magpitude of
it makes with the positive x-axis is: e -
. = ©)5.0m; 127°

3 and the ahgle that
Ay1em; 1277 @&p5.9m; 53-1°
.y m5.0m; 307° E) 5.0m; 233°
the sum o_gtwo vectom§ =3i—2j— 2k and C=28—] 43K such

—4 o
4 is added to
e
PES-Ti+3-k

7. A vector
Tar At B+€=-21 _The vector A is:
A)--5i+3] ' B)—52+5j-ié -
_ai+4i-k E) -3t +3j—2K
initial velecity Yo and reaches its maximun

tically upward with an !
1 —vol2?

e, a\{ter i_t was thrown, Wi

Jov 6 S N 2 ;
aﬂé = / N‘l _

B4 N\ 0

D)18s

)= 2—4t T 4t% where ¥

ant when its

in a straight ] :
mfs) of the truck at the inst
AX\'g

it have velocity

4. A ball is thrown ve
height inds. At what tim

a truck moving L
the velocity (

—65. The velocity of
seconds. Find

i /s and £ iS in

: aeceleration is 20 m/ s¢. ~

: a )0 D)45
j} E % - () o %

7

6s 15s
line is given by v(t

)16

| g) (FRCasr—IRY
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I 13 /1% / ;
B’I[/s(\l/,}gj‘! use g = 10m/s> N

£2 4 Ct3 . If this equation ig -
+BBand C are constants. The S

f
2 . : t) = At
/ :velocityof a pa‘rticlc is .gi've_n by the eqt_zanon_ ;:;E(ze)ﬁme, ’
1ensionally correct, where v is the velocity, 1
tof the constant Bis? -

4
; : 2 /g3 B.m /s
. 1/s? B. m/s3 C. m/s? D.m*/s
® ol " i % . i Jation is correct is:
;e; e’ji ¥ 2 For the vectors in the figure, swhich one of the following re ‘

xg’* .| A& F-D=4+T B. €+BF—-{d+D)=0 f
/’ i —’ = i
M . BF-d=D+C A+B+C€=~D

AE}:‘V" = B O +_. //D; z \'z'“ e :E?.g 17
= E. B+C=4-T '
o/ y L
/‘ — - — =4 d—2:

v ’/3:114:5 = —5 I + 3 J, the magnitude og the vector B sothat B = — gf_l 1Sl
) : . A :

] A.Vi3 B. v2 Gv5 D. V8 _E.V18 : Ve
) : 4__ 3 ‘ -

;f 4. If the magnitude of A and E are 4 units and 3 units respectively and the resultant is 3 units
; The angle between the vectors. A and & in degrees-is: o -

. s ] c
‘The head of vector B 77’1
- onthe tail of vector 4

A.90 B.120 . C. 68 .

D. 48 ° E20 -

-
.

An object moves from point A to point B with a speed-of Sm/s and comeback fi
. om B t
w_zth speed of 3m/s. The average speed of the object is :- : i

A-444m/s BS54 - 2.40m/s

D. 5.33m/s  E.3.75m/s
b 1Dleo |B |o

el

—
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Monday 28-a-svid

Department of Physics
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coBuleatle s

mte Temtmmi_s

bz e Sle o fdall gt

l—[-———_—_—l—z ¥ i3 4 5\;" 5 ¥ '.Tz"‘, 8 ga!.\m ;‘\ ;%
B c l=131p ] %
s T
; +  Acceleration dug to oravity f_g__-:?.s m/s®
3_ gi: The equaticn for fhc char nge of posizion of a train stacting 2t ¢ = Q m is given by x = la.3 e
; P . t 1.e dimensions of B are: 2 :
i}-—” BT c\-LT" & LT!
"’Pz' ;& CF -nmn ;cr in g straighl 00 ~oad with constant acceleration of 8 mis” covers a distance bethe
4 the Gna) velocity (in m/s) &t point B.

?'-.‘1.3 101' 118 A ST

. 100 m apars, ip ) secc:nds Fin
ay IS /@50 £} 119 i " d)3s
e ations, which one is :ﬁﬁ%‘?

; Dfthe folow ing situabor

%,

—

Lot

veviny velocity east end acceleranﬁn west, B
. . )74
zcosieration. L~ may

: ina wariable veiocity snd constant 200
ik
on. & m,)a {,;b[

tavinz velocity =ast «i and acceleration east
e S~

T :
4 Y4, body having constant velociny and yarigble a008k arath
& E _______—_——"——-
) [§ 7 ;'L.-a Y s
ing t-:) ﬂle em_c.ncn zz:‘{é:‘--} m. Dateimd

OFy

Ordmav: aoonTaiEg

Sves along the x-co

Gé: An phject m
‘ averase velocity BETWesD ¢=1sand t=2s.
' e ——— ., e o ag o
¢) 10m/§ ~ g3 13 ms

5}} :.6 m/s

da 12 3
tieaily from grout d Javel is

- 08 ,ﬂﬁ:rll_lhmwn T2
QRS ” =

i

~ﬂught 4 g later by a person o1 balco

T ;'Pg_’;nd The int ﬁ,ivpezd {mmfs}oxthe:ba-l is
D ____,___——-—-

fdm a..{ﬁ:" =
d) 194

a) 36.2 u—"’ B3t €} 132
—— /——_— “ == = = ____‘_,______,..—-
QE}_’ What is iaﬁ angle between the vectors A=3i—J g nd B=2{-5j"

L)’} @3 8° 60"
4u Lmts in length and positive ¥ componﬁm

= a:; 29.3°
Q7: ,5 vector Ahas posmvc s cm}ponmt

tengrh. What is the magl nitade of the >ecmvi vector, B ’\w hen added 'QA wes

calive ¥ component 4 umts in length?

yector with n % COmPORS ent aad NG
- £ 14y 113 g
@7,3 ) 3.6 7 0 e
......... POy TR T rh & a WAy ﬂ-ui p:s spitial velocily 15 26 /s and strikesat
3 el 17 Sl e
1 (in Feprees) isy

Fadins] ,fe,;,s_.

i B hom-\m ta] disfance of 326 m sWay. The p ofe 28

| - by 3 ) 60 ) 45 : .

: e e

g . x}9¢ by 50 LA .__},,.,,..... o '
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& ?hysics 101 _ T - l:l-"‘u i b | 5o -
abia ; 234—” = o W e
" . T - [ i .
Aas 1o i 1 € 12 4 sarting ot x=0 misgweﬂw
ition of 2472 et
O1:- The equation for e chenge of positic? P j g oAt T L2
g . = g2t The dimensions ofa BTG "
‘ s : 4. LT?

L3
L a. T

timetis
2.077 s

a. 461m

"’64:— An object is moving on

AmJs. the time required for one revolutionis:”
A __..__-3__2,'._,[2_,.___..-_._.__._1‘-:._.1!2!2 - .

Lo et amle 12 1
Q5-Aprojecdisis il

jn the horizontal direction.

- yordi s e in theters is given
2:-The coordinate ofa particlem _ N
ks in seconds. The particle is momentarily at rest at

' O3:- airplans is in level fight ! A
gvh'at disp'tance should it release a heavy bomb to hit the target on the

2
b. - LT3 LT

by x (£)=32 —67 , where the
d.73s

& 1778 /135

ond a speed of 150 km/bh. At
earth? =
4. 2550m 5.

st an altitude of 0.6 ko
b. 454m c. 420m

a circie path of radins W2 meters ut 2 co;{staui gpecd oi

. ¥ /) RN

aen fon the lemofl building vdth anduitat velocity of 40 ™8
3 the top of ths building is 40 m above the ground, how

a5t will the projectile b moving just befors it strikes the grownd?

A /
a3Sm/s’ B39 mfs 0/3 A8 /s d.41 mfs
y W
Q6: If A=3i-4F, B=21+3] ,ond C=1+2] whatis the angls that the vector
: " —A-B+C makes with the positive :-axis? :
(= 143° a0 P hlb'-.
IR 227 e, 217

d. 233°

ey A -

For this part answer Q7 and Q3

fslg:ojectile is Jaunched swaight up at 60.0 m/s from a heizht of 0.5
eer cliff. The projectils falls, just missing the ciff and‘;ﬁtﬁnv fh’e
- x =

184
b AT

.08 ime i
Q&: The time it faies

{1) 18.55

Q7;The maximum heig:

2t of the iojectile shoy s P F
r LOLLT 2D c‘i_ha it T B s
(t) 222m : poat of fring is

{c) 44

(@) 205m
oo
0 Mt ths zround et ths base of tha cliff} '
f LT i
TN ) el
k 2 1"'.'."_"5:!. B.S
/*-. b b s:\q-\,' ‘-}Q '}:q.
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General Physics 101 Mu'tah University Fi \
1 _ irst Bxam
Spring 2005/2006 . Dept. of Physics 55 minutes. \

Name: Spuead, E Z =S Section: - —0 Number: <A} -
. . e =
1. Given A= 4i—2j and, B=-i +7. The magpitade of AXB iz,
(2) 7.44 Y474 - f/asﬁ?g (& 447
(&Ll s ) problém the angle that A +B makes with

2. In the previous

the y-axis is, WL i

(a)27* - (b)31° (c) 63° f /& o . G\
arl iclé, the velocity of <

i The-ﬁ'gure shows x(t) graph ( csi=3ll) for certain p

th {article st inm/sis,
. Aa) zero (b) 028 L (d)]:': ;
A, A stonie is thrown from the top of a hill with initial velocity 0£20 m/s at-
; et after 2 5. .The height (gl ofthe

/" “ap angls of 37°.1f it reaches tho gron
hill is, ) ¥ ’
{a) -80 m (b) 8.1 m - 4.5 m Sm.
7o orihe stone velscity ast before -
AN

2 For the previous problem, the ma]

i1 hits the ground is, : .
() 63.2 m/s ®)236mis () 669 m qm(@ﬁv 7 mls.
rding to the equefion (As=d tean)

6. A particle moves along the x-axis ace0 >
x=-(28 ¥ 3¢ -5t) m, the ceeleration of the particle att= 2 sis,
/65 30m/s” * @)y 18ms® - (9)30 m/s® (d) -81 m/s®
7. The volurne ( #2=) of a sphere (2.5)as a fupction of time is given by V =
b2, The dimension ofb is, - ,
() L/T : Y LT (¢) THL? (OT/L
Fred from a horizontat rifle (Lade=a} Wit: initial

8. A builet ( lslapNas
velocity of 500 mfsona ?30Q m away

target aty equals,, :
b)-0.78m - (6) ~1.76 m (@) 176m
o the horizonial with a

target, (%) the bullet sirikes the

(2) 0.78 m-
9. A jumper-leaves the ground at an angle of 20 o fhe,
speed of 15 m./s. The time-needad fr the JUmpet to reach the maximum
height is, e T e
(2)3.8s . ®)83s X/{C) 0.5s (d) 038 s

. 10.For the jumper in previous problem, the maXimum: rengs ( 15—“3‘).'15,
(a) 2.9 m. (b)9.74 m. (c)}7.94m T4m
A2 —T¢ 718 1o 110

C A 2 |
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e\ 2 P
!a" \ o 1 hour

i ™ LE an Ie Of'-
1 Yostol s a magaitade of m and MEKCSE7 / (@ +1.25n->
component equals 12m e sinj-kis, — P AR = \
(@ 2.1m théb) 2 ';!ectOI'S A=21+3' __k'-andGB" Ty l_ d) 6 '_;@H‘
ecn (c) 12 (60+0.5 ; ) - ?h

. The angle betw .

(a) 50 5 s v
The velocity of a €ar at any time i ,

2vcragé acceleration of the car bzetwecn t=1s and t"z ' ‘ (@1 mhs

& i tnsfantaneous acceleration at t=1s

a) 4m/s” : _
t(.I.JUg_Eng the equation of previous problem, 0
equals, : il 1 mvs” .

(a) 4m/s® ()3 wis” e ks cs(t?)ﬂ;z mpésmon of the ball after.2 5 1s,
5. A ball is dropped fro(x; -al gﬂf building fromr M -m. (&) —20m
a) 100m ' m . : a Sose  sew om @
) & iven A=3j-k and B=4i-5§+ 8k the ma"ft;qiﬂf?’/} R 9 20
4) 17 ’ (h)18 Bl 4e . e
S a car moving with x 22— 0.25 )m and y= (+0.025.)m, the distance of the car
Som the origin st =2 s iy - Wi : :
(8)2.1m t;/@/zz m (©)23m . (d)2.4m
8. A goat jumped off the edge of a cliff with a horizontal velocity equals 9 m/fs, the

sition at £=0.5 second is, -
(c) (4.5,-1.2)m (d) ~4.5,1.2)m

- (%,y) components of its 2
(@) (1.2,=4.5)m ((&1.2, 4.5)m
9.A player hits a ball with initial velocity of 37 m/s with an angle 53.1, the maximum

Q') height that the ball can reach is,
(a) 34.8m (h)84.3 m €)43.8m L4283 m
*  10. A long jumper leaves the ground at an arGle of 20 above the horizontal at a speed
of 11 m/s, his maximum range is, ) :
@9.74m }Fﬁm C (©497m @) 947 m

_ e
& e T s e ] 2

Nen “2A[3 cos @ ‘;‘;3: 5-33

AV
/?»—, A+ 2 « LA COSE
28912 1298+ 2093+ 3Y .25 .
~6:0) = 2Y.250¢0
Cose6= =nis4

Dl :
A =T e (B1= Therr
ik L

G- 100

1]

= EB:IL(L, \ \ \)'Z—i“
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& A éb £ Physics 101-First Exam // ;

5 G S
\C\eeanenegaatall Gl .,__\_'._nl\c\}il_»"t-'):‘-’”‘-"ﬂ“ Qleghus st

e

Note: m/s%’ S e Gl
;7\}’5;/ == ,4’/ =T 7 lerl. W |
FT D AW ClalrlC |16 14 ]|

ed by the relation:

the x-axis is describ e re)
in the time interval t=0s to

1. The position of a particle moving along X (
x(t) = 2 — t°. The average acceleration (in m/s") of that parti

t=1sis-

(2)-9 O

A Af A=37-4], B=2i+3],nd C=i+2j
J

- o magnitude of — 4+ B+C is
®)5 () I ;@{

(d)-1

(a) 6.1
. 3” What iS,.ﬁl_c value of [10Kg] ? - o
@10 (L)L () 10L

cording to the equation x(@)=(- t? —3t+2)m. The

4. Mﬁx axis as
speed atZs? @Y (\ Spaal \ '

2)9 ®6 - (©)5 (@ -5
’s” A ball is thrown directly downward, with an initial speed of 4m/s, from a height_'of h

~"and takes 2gto reach the ground , what is the height of h ?
0 (b) 13 ©) 1; 4 (d) 69
artesian coordinates (5,’ 20) m . Determine its angle in

6. _K'points in the .ty plane have C
polar coordinates.
”’7./ A particle “Tnitially located at the origin has an acceleration of @ =3.0] m/s* and an

initial velocity of ¥,
ADI6E +6] (by 4i+6] (©) 4i+3] (dy3i+5]

_8 . A long-jumper leaves the ground at an angle of 40° above the horlzontal and at a-speed
£ 11.0 m/s. How far does he jump in the horizontal direction? / '

> /
— Y4 ®»s ©)s2
9.1f A=6f—3] then 24 has a magnitude of
(a)7 ) 15 (c) 19 (@22

—8.07 m/s. The vector position (in m) of the particle att=20sis

4

10. The direction of displacement depends on

(
(a) velocity - {b) distance . (c)force - \/ @ final and initial

| i
position . : @ e Vels
Vg =vi "L S

\vﬂls . ol % .
3 ) ._@——"Jﬁ, Y Lol
o . LAt o s -f—"“_" TN 5, g “. 8 o i35 e .
R oy : Tede o e =
[E R I \"&—’r‘_ogs.- ) 2 -‘i"w j
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N Ehyfsics 101-First Bxam

Note: g= e

i 12 i Bl R s

. [ ; : >

b VT AR LN
% : - ' |

3 ?5 7 Y| b Xl O| By #Qm

. 5 Uo7
i A7 The position of a particl . v Z, iV 7%
i x(t) =2 —*. The i ae mC]ng along the x-axis is described by the relation:

. ceeleration (in m/s?) of that particle in the time interval t=0s to

t=2sis
(a)-9
2.I1f A=37-4}/ 5B ) i @
3 A=37- * — - ; - - - -~ - -
/B-ZI +3j,and C=i+2J, the magnitude of A+B+Cis
(@) 6 ()5 ©)9 T )

3. What i; the value of [10 dyes] ?

(a) 10 ®L (o) 10L /@ﬂ-/
_4 An object moves zlong the x axis according t0 the equation x(f) = (=t* =31+2)m. The

speed atZs57? _

s @3 ®6 7 @9
(/5 A ball is throvm diroctly downward, with an initial speed of 8u/s, from a height of b -
“nd takes 2s to reach the ground , what is the height of h ? .
()36 (b) 13 " (0)15 (d) 69

5] A points in the xy plane hzv/e Cartesian coordinates (10, 12.) m . Determine its angle in

polar coordinates. 0- i .
50° " (c) 63 (d)33

(a) 76°

rigin has an acceleration of @=3.0j m/s’ and an

7 located at the o
5 .= 4.07 m/s. The vector position (in m) of the particle at £=2.0818

: () 45 +3] (@) 3i+5]

an angle of 60° above the horizontal and ata speed

far does he jump inth
a)4 (b) L0 (c)52
9. If A=3{—97] then 2.1 has a magnitude of
(a)7 (b) 15 ‘ (© 19 (@22
4
10. The direction of average velocity depends on ' - e
(d).distance

@displacemcnt (@ force P |
o 3 P

A Satl Sl :

(a) .specd

. -

Ao gt Bt glt - W30 Bmalm| A
L vaA1AAAD -2 - -YTYVOATA S
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Dept. of Physics

JordanUniversity of Science & Technology
First Exam Thursday 71312013 Spring2013

Physics101
2pi2 00 2 K] G2 el M ,-\re_»n = S X\ .S
¥ \——a
: saptalls s oo et

bl il v wRE  wempEs sses]
[ 4 | s \10\11\\2\13\\14\1?\

.F.]BT;;\BDSDB‘SBQ\\ =
LIBILILLIEVGINTN AN

L G
east and vector B has a magnitude of 3 m points west. What

3 paal)

|

SN

Considerg = _1%

Q1) Vector A has a magnitude of 5 m points

is the resultant vector A + B? .
A) 1.0 m east W 20m E C) 1.0 m west

D) 2.0 m west

Q2 A force of 1N is?
A)l zcgfs'm B)1 kg - m/s C)1 kg - m/s- (O3 kg k ;
QI A pmncle starts from: 1 the origin at t = 0 witha velacity of v; = (121 - 12])m]s and moves in the
xy-plane with a constant acceleration of @ = (3 - 6f) m/s°. Whatis its speed at t = 2.0 5?
C) 24 m/s D)33m/s

Grows .. B)2Bws
= 2i+ 3kare in the xz-plane are given by the equatlons Find AX B?

Q4) Vectors A= —i+ 2k and B =
A) =7f @7; C)6j D)—6J
to . Which of the following positions produce the largeste—--

5) A particle moves along the x axis from x;
displacement?
A) x;=4m xp=6m §B) x;==4m, xp=—8m
C)x,-—4m, xf——Zm. xi—-—4m, f-4m
velocity v = 28t + 20j. What s the horizontall
LY ) /_.._—-._

—

Q6)A pro_;ecnle is ﬁrcd from ground levei with an initial
D)104m \ /

range of the projectil&?

A)I32m ———— B)I20m {J112m
ez a , . 5
4t — 3, where ¥ is inmeters and t is in seconds. Its

Q7) The posmon of an object is given by x(t) =
..—-—"!"""""—"—_— .
= 0fot = 35is? _
@-1 /s’ -

average: acceleratlon over the mtervai from
A) 5 m/s’ \"’ s+ B) -7 m/s® C)2 m/s
m/s. Its height above ground

Q8)An ob_;ect is thrown straight up from ground 1evel w1th a speed of 48

evel 6 seconds laiqr*m\ ,'
A)120m .IOSm 0% m D) 84 m :

.......
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. calar product of 4 and a third vector C

4 Baregivenbrﬂ=‘”a“d8 ZI'T?&;EO.%tisthemagrﬁmdeofm
Qg)T‘mWAmd ¢ B and C is 6. The z-component 0 5
is 13. The scalar product © @4.4 .y O

/ ) 5 " .

2 = . e : porth, at constant acceleration of 3 s?south— ]
2 QlO)Acafsiarlsinox;iﬁgMﬁlaniniﬁal velocity of 23 m/s. Cox N /65/1\{?
- i 5 2 , ' no 2

tisitsorvgocrtyaﬁasseco e — D)7 s |

Sm/so _ - ‘ S

: 2 ,53) around a circulas— &

& racing car is moving with a constant speedf 60 m/s completes one 2p (2+) 5y
t?;c}c) :?4%‘: ;ng What is the magnitude of the accelen;tion of the car? S C/ _
A) 102 ms’ B) 7.5.m/s’ @9.4 m/s’ D)8.21 ‘

ot trocti » with respect to +x-axis?

QI2) Vector A= 2i — 4f,and B = 3i+j.Whatlsthed1recuonofA+Bmthrwp ) A

329.0° B) 123.7° C) 309.8°

——
-—— . —— ——
- ———
- . - G
- ——— T — ————— -

13) A car is traveling taward east at constant velocity. The net force on the car is:
West . _{ BYZ&o . C) East D) Down

Q14) In the figure-shown, F = 35 N, m = 5 kg. What is the magnitude of the
angle of in;;lination (6) at which the mass accelerates up with acceleration of
a=2mk7 - . R f:

A) 36.8° B) 44.4°
C)23.6° @30.00

Q15) Two blocks (M, = 5 kg and Mp= 15 kg) arc-fn &mtact on a‘

horizontal frictionless surface, A force F = 36 Nis apolj
' face. — 1s applied on block
shown, W#ahs the magnitude of the force exerted ﬁ'ﬁg A on B? Az
AN "B)2saN e ‘
: —
0) 234N D)300N
| >
| > |
I mmms == i
» ‘ & ' —{/
! ' B %/
~ br. : B .
' - ..4 ! f _:3‘-,"
& e P i &
""%’ y # -, I } g
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1) fais acceleration, v is velocity, x is positionand k js time, then which equation is not dimensionally correct?

g; t= xfzt} R C)t? =2x/a — TS .
a=vyp X ” =] . g
P V D) v a/t 5@ t}’f -

2) Two vectors A has a magnitude of 10 units and B with 2 magnitude of 6 units. The angle between them is 539,
Find the magnitude of A~ B. - ~ NS - -
%—)315.2 @s‘n_ b C) 14.4
bR . iis D)63

3) ‘I&I;‘)Aw: 3i+4f,andB = Si—-37€.Whatisthemagnitudcof 2A -3B7 A * B = A B cos >3

, & - o C)9
‘B) 19.2 & D% 242 A
4) IfB= -2£+2j+3E.Whatistlmanglebetweanandthcyaxis? ‘
)61° - 7 —— C) 47° \ O
B) 430 D) 559 2, =8 Jing

5) VectorAhasa magnitude of 6 units along the positive x axis and vector B makes 37° with the positive x axis
with a magnitude of 5 units. Find A x B '

A)24k C) 18%
B) 12k D)-18%k

6) An object is thrown straight up from ground leve] (=Yl ghw) with a speed of 60 m/s. Its distance above ground
level 1 second later is

A)45m C)S55m
B)Y65m D)60m

7} A car traveling with constant acceleration increases its speed from 10 m/s to 50 m/s over a distance of 48 m,
How long does this take? = :
A)1.6s ' C)2s
B)4s , D)0.8s

8) An object moves along the x-axis according to the equation x(t) = @3+ 2t)m. Determine the average
acceleration betweent = 2 sandt = 4 s. ;
A)36 m/s* C) 6m/s?
B) 12 m/s* D) 18 m/s?
MW o wean mEEE Ten e wwe s e L a8 B P
9) A particle moving with a constant acceleration passes the origin with a velodity of 7§ m/s. Its position two
seconds later is (10 £ + 4 f) m/s. Find the magnitude of its acceleration in unit of m/s?

A)94 . V% C) 13
B)S ¥ ‘ D)?.l \‘\ o
Y
= iy e L TR e e®
e N NTI 5 D 0
r. - -
d \w.\*qv)‘\_"'/ - ___l'? W T A

NT m e T v
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8.

9.

10.

lestioni1 |12 |3 (a |5 [g [5 ‘8 9 |10 |11 |12 |13 114715 A :

30
swer ﬂ % Ol ol &Lﬁ CI®|A|fFTID & =
e | o e o /
) c < A8 A A

What is Its average velocity (in km/h)?

A) 140 north 65 north C) 60 north D) 50 north
0 2 2T O

If the two vector 4 = 2 + 3bj+kand B =3i+ ] = 6bl are perpendicular to each other.
What is the value of the canstant b?

A) 0.5 2 C)-2 D)-0.5

A ball is thrown directly downward with an initial speed of 10 m/s, from a height of 75 m. After
i 2
what time interval does it strike the ground?

A)75s ®ss C)3s : D) 15.s

The velocity of an object moves along the positive x-axis is given by v = 4t2 + 5, where tin
seconds. What is the average acceleration of the object between t = 0 and t=5s?

A) 8 m/s? B) 16 m/s? C) 21 m/s? (©) 20 mys?

A box is given an initial speed of 10 m/s on a frozen ice. Then it slides 50 m, slowing down
steadily until it comes to rest. What is the magnitude of the acceleration of the box?

A) 7 m/s? B) 3.3 m/s? C)2m/s* ®) 1 m/s

A projectile is thrown vertically up with initial velocity v, and reaches a maximum height of
150m. If it is thrown again with 2v, what will be its maximum height?

A) 600 m @) 300m C)750m D) 450 m
A student stands at the edge of a building and throws a stone horizontally with a speed of
20m/s. If the building height is 45 m, How long does it take for the stone to hit the ground?

@2.25 s B)3s C)0.55 D)9s

Which of the following quantities is not a vector?

@ﬂ;@_ce) 28) acceleration aq) velocity @ displacement

The position of an object maves in xy — plane is given by 7 = 5¢ — t3j, where tin seconds.
What is the magnitude of the acceleration of the object at t = 5s?

A) 6 m/s? B)7.8 m/s? (&30 m/s* D) 100 m/s?

An object moves in a circular path of radius 10 m. !f the speed of the particle is given by

v = 6t2 + 4, where tin §, what is the tangential acceleration of the objectatt=4s?

A) 14.4 m/s? (B)esms C) 10 m/s? D) 0.8 m/s?
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Approximate your solviion to those given for each question. Consider g = 10 m/s".

J1] Given the two vectors A= 4i+ 2jand B = 3i + xj + 3k arc perpendicular to cach other, find the valuc of x.

A)G6 B) 3 ‘ C)-6 3,,,- Dy-3

Q2] An object maved from the point (23, 0)m to the point (0, 25)m in 10 seconds, find its average velocity in

anits of m/s. e
= : D) - 5i+5j

A) -25i-2.35) B) -2.5i +2.Si/ C) -S§i-5j
03] A man walks south at a speed of 2 m/s for 15 minutes. He then tums around and walks north a distance

2000 m in 10.0 minuzes. What is the average speed of the man during his entirc motion (in m/s)? i ¢
A) 3.2 B) 2.1 ey L8 D) 2.5> —

4] A car driver noticed that the distance between his car and another car in front of him is constant and equal
ﬂ’,‘.’_‘ﬂ- If his speed was 20 m/s , what acceleration ( in m/s?) he should apply to overtake that car in 20s? ¢
A3 =7  B)3.S5 C)2 D) 2.5

—_— -
5] A balloon is moving vertically upwards with a speed of 10 m/s when an object is dropped from it when it
vas at 60 m height. Find the speed of the object when it hits the ground (m/s). (

A)41.2 B) 36 C) 33.2 D) 30
6] An object is dropped [rom a bridge. One second later a second object was dropped. Find the seEaration

)ei\.lL_En the two objects one sccond after the'second objcct hfls bgen dropped (in m). _ >p ) \.LL-«LB
Als: B) (0 ( o5 ™ D) 20

7] An object has a position given by /) =[2 + 501 +{3- 471 “1j m. What is the magnitude of the
«cceleration of the object at time t =2 s (in nv/s®)? :

A) 6 B) 4 )10 | D)8 )

28] Object A has a position as a function of time given by ra(t) =(3ri+1 “j)m. Object B has a position as a
unction of time given by rg(t) = (4¢i et j)m. What is the distance (in m) between abject A and object B at

imet=4s? = ' ,
A) 50.2 B) 8.2 G322 D) 18.2

9] The system shown aside is in cquilibrium,
‘ind the tension T in (Newton).. Consider Ty =24 N

A) 60 . B)20
C) 403 D) 80 . ”
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Name: .
S —
SCS
: . ween the two mas
10] Find the mutual force in Newton h;l:ti L 30N - e
Siown in the figure (No {riction). Consl! [ ore
‘ B) 21
A) 28 ‘
: i tally. Wh
o e from the center of a disk rotating horlzor:; Y
3 Lo is pli 1 mfro ! ' ‘ )
Q1] A small stone of mass equal 0.3 I_J, Iil)[d?[(‘:fflc?;;(l][ (l)fl‘static b aotion I8 Q}: N)? My - © g Si
is the maximum static frictional force if the cocliicicnt of o |
by .
g : ol )
1 A) L3 B) 2
"Q12] A 50 kg block is being pulled up a .l_3° slope by a force
I~ =350 N which is parallel to the slope. The coc?fﬁczcnt of
kinetic friction between the block and the slope is 0.2.

What is the accelerarion of the block (in m/s?)? -+
A) 1.8 B)o0.8

C)3.8 @

Q13] A 4.00-kg block slides down a [rictionless inclined plane with an acceleration 4.50 m/s*. What is the
angle of the incline above horizonta]? ' -

A)17.5° - B)23.6" (©) 26y soriirinn Dy 11.5e.. .

Q14] Two veetors of lengths 12 and 15 units, their resultant cannot be; - P
A)6 . B) 4 C) 14 - (Q) 2
QI5] A ball is ticd to the end of a cable of negligible mass. The ball js movin |

6 m making 0.1_;eyoluti9n_s Per second. What is the cen
A) 1546 i B) 116\,

Tl : B ina circle with a radius
tripetal acceleration of the ball (in m/s*)?

C) 38.6 D)77.3

e ———

£

T
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Use g = 10 m/s>.

NNV YN N

=
C.
<

[

4

\./ s\‘, e L}P]W D”\dlﬁ‘i\sGﬂ\fﬁ
T {

Py

Z- / '\j,.-— t\.{ .

1
B?

b. 22

70

If A = 12i — 16§ and B = —24i + 10j, what is the magnitude of the vector C=2A. \

(3. 6D

a.

9

b. 8

6

72

b. 51

3| Given A=2i-4jand B=-3j-k, find the angle between A and B. ) \* S
d. 65

l
1 ; 3 d. 36
Q [2 If JA] = 10 units and [B| = 11 units and A . B = -100, ﬁnd?A+B\ ﬁ/’

a’

a.

g

CHED

3?__)
Two veotors A =21 + 3k and B = -1 + 2. What S Ax B \
A4 d. -j

a.

-0.8

-1.7 5

c.

5 Given A =i—j + 3k and B =2i+ j - 2k, find the projection A on B. \
-2.4 d. -2.1

-14

b.

-20

} The position of a particle moving along the x axis is given by x = (21 + 22t —
1 6.0r2) m, where ¢ is in s. What is the average velocity in m/s during the time

intervaltr=1stot=3s?

Co 27 4. -8

a.

b.

i - 3

C.

A particle start from the origin with initial velocity 4i m/s and with a constant
acceleration. Its position after 2 s is r = 12i — 6. Find its acceleration (m/s?).

2i - 3§

i-3§ d. 2-315

a.

a,

700 m

900 m

C.

| A rocket fired from rest vertically with a net upward acceleration of 4 m/s’. Ata
height of 500 m, the engine of the rocket shutdown. What is the maximum height

it reaches from the ground?
b.

1100m d. 1300m

a.

12.3

b.
d.

11.5 -
13.3

9 | A ball is thrown horizontally from the top of the building as
shown in the figure. Where h = 100 m and x = 65 m. What is
the initial velocity of the ball (v, in m/s)?

C.
10

o al oV

LI B

A ball is thrown from the top of the building as shown in the X(M\ 5, \
figure. Wherc Vo = 12. 2 m/s, x =25 m and © = 53°. How tall S \,

L
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= Consider g=10 ro/s?, C Jy bt ) Lo Bl 1 oy J1

- P+ 1. Aparticle is moving according to equation X(t)=3t*+5, where x in meter and t in seconds. Ca]culate the
average velocity during the time intervalTI=18 tofZ=3s) V=

0 A)7.5m/s B)5m/s.: G 12m/s D) 8m/s 97 =
' . ' , <.
. 2 Acar travel{ 160k 2{€0Rin /b and [60KET .t 100km/h. What is the &ezage speeg)of the gar. 2
A) 84 km/h - E 89km/h C)49km/h  D)91km/h ) &
A Aballjs thrown downward from the top of a building with an initial speed of 25m/s. It strikes the
ground after 2 seconds. How high is the building? ; =
A) 30m B)20m - C) 50m @mm
. r\)):o Z 2=
4. Acarof mass_1000ke accelerates frozp‘ rest to 27 m/s in 7 seconds. What is the net ferce on the car?
A) 26X10:N™ B)68X1I0°N - C)27)<104N Q)st;xmsN o E Mg ©
T ' X =
5. Aballis t_t;mwn from a window of 60m height with an mmal velocity of 15m/s in the hom:ontﬁl)
dm.cbon as shown i in the f;gure What is the horizontal dJShnce (x)? BT
-‘;_..,/,-ﬂ.‘\ — !g r“{EA- ] -

A) 601 p,)wom\/@izﬁ D) 45m A Xenk

6. A parllc.]c moves in XY-plane with an initial. velocity of ¥ = (2:+3])rn/5 and constant dLCt:!Ll'dT.lon a= 531-
—-—-—--——.ha_.

7g)m/s What is the velocity'afier 2s? i Yy =
[(A)-% A),zu 7 B) 5i -j =) 614§ D) 11i-3j Q"
. B 3
7. !n the fgurc ktxcmn the magnitude of the dlsplaccmcnl B h J’D
vector'’A=]10m and vector B=i5n: What is A£7 ra A+ L;_@ \ /‘ A X
A) "HIBJ m B)17i -6jm C)-17it6j m D) -6i+17jm 53 725 594 37
- _' T .
53
p
. 15
8. If the position of an object is given by X(t)= (21>-5t-16), where t is in seconds and X is in meters, the
acceleration at t= 2s js: )
A 2m/e! BAD =t i L "
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